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Directions (1-4): Each of the following questions contain a sentence which has been divided into

five parts which might not be in their correct order of narrative. The sentence is then followed
by five options, one of which gives the sequence of the rearranged parts to make the sentence
meaningful. Choose the option which gives the correct sequence of the parts. If the sentence is
already arranged in the correct sequence or the correct sequence doesn't match with any of the
given sequence, mark option " No rearrangement required " as your answer.

Q1. (A) approval journey for customers
(B) onboarding processes, simplifying
(C) the loan application and

(D) ramping up their digital

(E) financial institutions are

(a) EDCBA

(b) EDBCA

(c) DBCEA

(d) DCBEA

(e) No rearrangement required

Q2. (A) International Self-Care Day is
(B) July each year to emphasize

(C) celebrated on the 24th of

(D) self-care and self-love

(E) the importance of

(a) ADBEC

(b) ACDEB

(c) ABCED

(d) ACBED

(e) No rearrangement required

Q3. (A) support and guidance as needed
(B) role of caregivers for their

(C) "parenting parents" refers to

(D) adult children taking on the

(E) aging parents, providing

(a) CDBEA

(b) DEACB

(c) CADEB

(d) DBEAC

(e) No rearrangement required

ALL EXAMS,
ONE SUBSCRIPTION.
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Q4. (A) handwriting, particularly in prescriptions and
(B) medical notes, which can sometimes lead to

(C) misunderstandings or errors in patient care

(D) "Doctors and handwriting" often refers to

(E) the stereotype that doctors have illegible

(a) BCEAD

(b) ACDEB

(c) DEABC

(d) ECADB

(e) No rearrangement required

Directions (5-9): Given sentences are not in their exact position. Rearrange them to make a
coherent paragraph and then answer the questions given below.

(A) It reflects a collective sense of identity shaped by rapidly advancing technology, changing values,
and a growing awareness of social issues.

(B) The zeitgeist, or “spirit of the times,” encapsulates the predominant cultural, intellectual, and moral
climate of an era.

(C) In this evolving landscape, concerns about sustainability, inclusivity, and the far-reaching impact of
digitization dominate global conversations.

(D) As society embraces new ideas and adapts to emerging trends, the collective consciousness
undergoes continuous transformation.

(E) Thus, understanding the zeitgeist is essential, as it provides insight into the motivations driving
individuals and societies in a particular age.

Q5. Which of the following should be the FIRST sentence after the rearrangement?
(@A
(b) B
(9 C
(d)D
(e)E

Q6. Which of the following should be the SECOND sentence after the rearrangement?
(@A
(b) B
(0 C
(dD
(e)E

Q7. Which of the following should be the FOURTH sentence after the rearrangement?
(a) A
(b) B
(@C
(d)D
(e) E
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Q8. Which of the following should be the THIRD sentence after the rearrangement?
(a) A
(b) B
(@C
(d)D
(e) E

Q9. Which of the following will be the correct sequence of the sentences after rearrangement?
(a) BCADE
(b) CDABE
(c) BADCE
(d) CDAEB
(e) AECDB

Directions (10-13) : In the questions below, a sentence is divided into several parts. Select the
most appropriate sequence to rearrange the parts into a grammatically correct and contextually
coherent sentence.

Q10. (A) of climate change and preserving

(B) is essential for mitigating the adverse effects

(C) and responsible resource management,

(D) including renewable energy usage, waste reduction,
(E) biodiversity for future generations

(F) adopting sustainable practices across industries,
(a) FDCBAE

(b) FDBCEA

(c) EBADAC

(d) EBACAD

(e) EBCFAD

Q11. (A) but also about fostering a culture of trust,
(B) encouraging open communication, and

(C) effective leadership within organizations is

(D) empowering team members to take

(E) ownership of their roles, ultimately driving collective success
(F) not only about making strategic decisions

(a) CDEBAF

(b) BDECFA

(c) CFABDE

(d) BDEAFC

(e) BCEDFA
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Q12. (A) artificial intelligence has the potential to
(B) necessitate careful regulation and

(C) revolutionize industries, but its ethical implications,
(D) job displacement, bias, and data security,

(E) responsible technological development

(F) including concerns over

(a) ACDFEB

(b) ADCFEB

(c) ACFEDB

(d) ACFDBE

(e) ABCDEF

Q13. (A) and infrastructure strain, requiring
(B) livable environments for future populations
(C) such as housing shortages, pollution,

(D) as urbanization continues to reshape

(E) innovative planning to ensure sustainable,
(F) the global landscape, cities face growing challenges
(a) DFCAEB

(b) DECABF

(c) DACEBF

(d) FEDACB

(e) FADCEB

Directions (14-15) : Rearrange the following five sentences (A), (B), (C) and (D) in the proper
sequence to form a meaningful paragraph and then answer the question given below.

Q14. (A) The scheme is designed to offer a balanced solution, ensuring both retirees' financial security

and the government's fiscal responsibility.

(B) The Unified Pension Scheme seeks to merge different pension systems into a single, streamlined

structure.

(C) This approach addresses employees' demands for higher
pensions while safeguarding the government's capacity to finance
the program.

(D) Additionally, the wunified structure aims to lower
administrative expenses and promote a more equitable
distribution of pension benefits.

(a) CDBA

(b) BACD

(c) BDAC

(d) CBDA

(e) BADC
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Q15. (A) Hydropower projects are often promoted as a renewable energy source that can help meet the
growing demand for electricity.

(B) However, these projects can have significant environmental impacts, such as altering river
ecosystems and displacing communities.

(C) Striking a balance between energy generation and environmental protection is crucial to ensure
sustainable development.

(D) The challenge lies in developing hydropower responsibly, while minimizing harm to ecosystems
and local populations.

(a) CDBA

(b) ABCD

(c) ABDC

(d) CBDA

(e) ACDB

S1. Ans.(b)

Sol. The correct answer is option (b) EDBCA because this sequence arranges the sentence in a coherent

and grammatically correct way. Here's the explanation:

o Part (E): "financial institutions are" starts the sentence by introducing the subject (financial
institutions).

e Part (D): "ramping up their digital" follows logically, explaining what the institutions are doing—
improving their digital processes.

o Part (B): "onboarding processes, simplifying" continues by specifying that they are focusing on
onboarding processes and simplifying them.

e Part (C): "theloan application and" follows logically, indicating that the simplification applies to the
loan application process.

e Part (A): "approval journey for customers" completes the sentence by explaining that the goal is to
streamline the approval process for customers.

The rearranged sentence is: "Financial institutions are ramping up their digital onboarding

processes, simplifying the loan application and approval journey for customers."

This makes option (b) EDBCA the correct answer.

S$2. Ans.(d)

Sol. The correct answer is option (d) ACBED because this sequence arranges the sentence in a

grammatically correct and coherent way. Here's the explanation:

e Part (A): "International Self-Care Day is" introduces the subject of the sentence, which is
International Self-Care Day.

e Part (C): "celebrated on the 24th of" continues by specifying when this day is observed.

e Part (B): "July each year to emphasize" completes the date and introduces the purpose of the
celebration.

o Part (E): "the importance of" follows logically, explaining what is emphasized —importance.

e Part (D): "self-care and self-love" completes the sentence by specifying what is considered
important.

The rearranged sentence is: "International Self-Care Day is celebrated on the 24th of July each year

to emphasize the importance of self-care and self-love."”

This makes option (d) ACBED the correct answer.
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S$3.Ans.(a)

Sol. The correct answer is option (a) CDBEA because this sequence arranges the sentence in a

grammatically correct and meaningful way. Here's the explanation:

e Part (C): "‘parenting parents’ refers to" starts the sentence by introducing the term "parenting
parents” and stating that it refers to something.

e Part (D): "adult children taking on the" continues by explaining that it refers to adult children
assuming a specific responsibility.

e Part (B): "role of caregivers for their" specifies the role these adult children take on, which is
caregiving.

o Part (E): "aging parents, providing" continues by specifying who they are providing care for—their
aging parents.

e Part (A): "support and guidance as needed" completes the sentence by explaining the type of care
provided, which includes support and guidance.

The rearranged sentence is: "‘Parenting parents’ refers to adult children taking on the role of

caregivers for their aging parents, providing support and guidance as needed."

This makes option (a) CDBEA the correct answer.

S4. Ans.(c)

Sol. The correct answer is option (c) DEABC because this sequence arranges the sentence in a logical

and grammatically correct way. Here's the explanation:

e Part (D): ""Doctors and handwriting’ often refers to" starts the sentence by introducing the subject,
which is the stereotype about doctors' handwriting.

o Part (E): "the stereotype that doctors have illegible" follows naturally, explaining what the
stereotype is—that doctors are known for illegible handwriting.

e Part (A): "handwriting, particularly in prescriptions and" continues by specifying where this
illegible handwriting is most commonly seen—in prescriptions and medical notes.

e Part (B): "medical notes, which can sometimes lead to" adds more detail, explaining that this
illegibility can lead to certain problems.

o Part (C): "misunderstandings or errors in patient care" completes the sentence by describing the
potential consequences of illegible handwriting.

The rearranged sentence is: "‘Doctors and handwriting’ often refers to the stereotype that doctors

have illegible handwriting, particularly in prescriptions and medical notes, which can

sometimes lead to misunderstandings or errors in patient care."

This makes option (c) DEABC the correct answer.

$5. Ans.(b)

Sol. Correct Sequence:B-A-D-C-E

1. B: This sentence introduces the key concept of the paragraph - the definition of "zeitgeist" as the
cultural, intellectual, and moral climate of a particular era. This serves as the best starting point.

2. A:Following the definition, A elaborates on what the zeitgeist reflects - a collective identity shaped
by technology, changing values, and heightened social awareness. This builds on the idea introduced
in B.

3. D: This sentence logically follows by explaining that the collective consciousness undergoes
transformation as new ideas and trends emerge, deepening the reader's understanding of how the
zeitgeist evolves over time.

4. C: After describing the nature of transformation, C introduces specific contemporary concerns -
sustainability, inclusivity, and digitization - as the focal points of the modern zeitgeist.

5. E: Finally, E serves as the conclusion, emphasizing why understanding the zeitgeist is crucial for
grasping the motivations behind societal behavior in any given era.
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$6. Ans.(a)
Sol. Correct Sequence:B-A-D-C-E
1. B: This sentence introduces the key concept of the paragraph

- the definition of "zeitgeist" as the cultural, intellectual, and
moral climate of a particular era. This serves as the best
starting point.

2. A: Following the definition, A elaborates on what the zeitgeist
reflects - a collective identity shaped by technology, changing
values, and heightened social awareness. This builds on the ALL EXAMS,
idea introduced in B. ONE SUBSCRIPTION.

3. D: This sentence logically follows by explaining that the
collective consciousness undergoes transformation as new ( @
ideas and trends emerge, deepening the reader's : -
understanding of how the zeitgeist evolves over time.

4. C: After describing the nature of transformation, C introduces specific contemporary concerns -
sustainability, inclusivity, and digitization - as the focal points of the modern zeitgeist.

5. E: Finally, E serves as the conclusion, emphasizing why understanding the zeitgeist is crucial for
grasping the motivations behind societal behavior in any given era.

$7. Ans.(c)

Sol. Correct Sequence: B-A-D-C-E

1. B: This sentence introduces the key concept of the paragraph - the definition of "zeitgeist" as the
cultural, intellectual, and moral climate of a particular era. This serves as the best starting point.

2. A: Following the definition, A elaborates on what the zeitgeist reflects - a collective identity shaped
by technology, changing values, and heightened social awareness. This builds on the idea introduced
in B.

3. D: This sentence logically follows by explaining that the collective consciousness undergoes
transformation as new ideas and trends emerge, deepening the reader's understanding of how the
zeitgeist evolves over time.

4. C: After describing the nature of transformation, C introduces specific contemporary concerns -
sustainability, inclusivity, and digitization - as the focal points of the modern zeitgeist.

5. E: Finally, E serves as the conclusion, emphasizing why understanding the zeitgeist is crucial for
grasping the motivations behind societal behavior in any given era.

$8. Ans.(d)

Sol. Correct Sequence: B-A-D-C-E

1. B: This sentence introduces the key concept of the paragraph - the definition of "zeitgeist" as the
cultural, intellectual, and moral climate of a particular era. This serves as the best starting point.

2. A:Following the definition, A elaborates on what the zeitgeist reflects - a collective identity shaped
by technology, changing values, and heightened social awareness. This builds on the idea introduced
in B.

3. D: This sentence logically follows by explaining that the collective consciousness undergoes

transformation as new ideas and trends emerge, deepening the reader's understanding of how the
zeitgeist evolves over time.
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4. C: After describing the nature of transformation, C introduces specific contemporary concerns -
sustainability, inclusivity, and digitization - as the focal points of the modern zeitgeist.

5. E: Finally, E serves as the conclusion, emphasizing why understanding the zeitgeist is crucial for
grasping the motivations behind societal behavior in any given era.

S9. Ans.(c)

Sol. Correct Sequence:B-A-D-C-E

1. B: This sentence introduces the key concept of the paragraph - the definition of "zeitgeist" as the
cultural, intellectual, and moral climate of a particular era. This serves as the best starting point.

2. A:Following the definition, A elaborates on what the zeitgeist reflects - a collective identity shaped
by technology, changing values, and heightened social awareness. This builds on the idea introduced
in B.

3. D: This sentence logically follows by explaining that the collective consciousness undergoes
transformation as new ideas and trends emerge, deepening the reader's understanding of how the
zeitgeist evolves over time.

4. C: After describing the nature of transformation, C introduces specific contemporary concerns -
sustainability, inclusivity, and digitization - as the focal points of the modern zeitgeist.

5. E: Finally, E serves as the conclusion, emphasizing why understanding the zeitgeist is crucial for
grasping the motivations behind societal behavior in any given era.

$10. Ans.(a)

Sol. The correct sequence is FDCBAE.

Rearranged sentence: “Adopting sustainable practices across industries, including renewable energy
usage, waste reduction, and responsible resource management, is essential for mitigating the adverse
effects of climate change and preserving biodiversity for future generations.”

Explanation:

The sentence starts with (F), as it introduces the main subject: "Adopting sustainable practices across
industries."

(D) follows next, expanding on the practices, "including renewable energy usage, waste reduction.”

(C) logically adds "and responsible resource management," continuing the list of sustainable practices.
(B) comes next, explaining why these practices are important: "is essential for mitigating the adverse
effects.”

(A) adds further detail about what these effects are: "of climate change and preserving."

(E) completes the sentence by providing the purpose: "biodiversity for future generations.”

This arrangement ensures both grammatical correctness and contextual clarity.

$11. Ans.(c)

Sol. The correct sequence is CFABDE.

Rearranged sentence: “Effective leadership within organizations is not only about making strategic
decisions but also about fostering a culture of trust, encouraging open communication, and empowering
team members to take ownership of their roles, ultimately driving collective success.”

Explanation:

The sentence starts with (C) to introduce the subject: "Effective leadership within organizations is."
(F) follows with "not only about making strategic decisions,” setting up the contrast structure ("not
only... but also").
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(A) continues the contrast, "but also about fostering a culture of trust."

(B) adds further detail, "encouraging open communication, and."

(D) logically follows, expanding on leadership responsibilities: "empowering team members to take."
(E) completes the sentence with the goal of leadership: "ownership of their roles, ultimately driving
collective success."

S$12. Ans.(d)

Sol. The correct sequence is ACFDBE.

The sentence should logically begin with (A), as it introduces the subject of the sentence: artificial
intelligence.

(C) follows naturally, expanding on what artificial intelligence can do (revolutionize industries) while
introducing the ethical concerns.

(F) fits next, as it begins to list those ethical concerns, leading directly into (D), which provides specific
examples of those concerns: job displacement, bias, and data security.

(B) then explains the necessity of regulation, and finally, (E) concludes by mentioning the need for
responsible technological development.

Correct sentence:

“Artificial intelligence has the potential to revolutionize industries, but its ethical implications, including
concerns over job displacement, bias, and data security, necessitate careful regulation and responsible
technological development.”

$13. Ans.(a)

Sol. The correct sequence is DFCAEB.

(D) introduces the context of urbanization reshaping the global landscape, which sets the stage for the
rest of the sentence.

(F) naturally follows, as it continues the thought, mentioning the challenges cities face as a result of this
reshaping.

(C) specifies the types of challenges, including housing shortages and pollution, adding concrete
examples.

(A) then elaborates further, mentioning infrastructure strain and the need for a response.

(E) provides the response (innovative planning), and (B) concludes the sentence with the ultimate goal
of creating livable environments for future generations.

Correct sentence:

“As urbanization continues to reshape the global landscape, cities face growing challenges such as
housing shortages, pollution, and infrastructure strain, requiring innovative planning to ensure
sustainable, livable environments for future populations.”

S$14. Ans.(e)

Sol. Correct Sequence:

B-A-D-C

Explanation:

1. B introduces the topic by explaining that the Unified Pension Scheme aims to merge different
pension systems into one streamlined structure.

2. Afollows by describing the scheme's goal of offering a balanced solution between retirees' financial
security and government fiscal responsibility.

3. D adds that the unified structure will help lower administrative costs and ensure fairer distribution
of benefits.

4. C concludes by explaining how this approach addresses both employees' demands for higher
pensions and the government's ability to fund the program.
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$15. Ans.(c)
Sol. Correct Sequence:

A

A-B-D-C BANK

Explanation:
1.

. B follows by highlighting the environmental and social

A introduces the topic by stating that hydropower projects are MAHAPAC K

promoted as a renewable energy solution for rising electricity

for all Bank & Insurance
demands.

Exams

challenges posed by these projects, such as ecosystem )
disruption and displacement. L,
D elaborates on the challenge of responsibly developing Selection Ka Saathi
hydropower while minimizing harm.
C concludes by emphasizing the need to strike a balance between energy generation and
environmental protection for sustainable development.
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